12

PNEC
chs oo | pec ()| pNEC

| 70061 Co 10000 4 oo oo | o
2| 75-07-0 LCs 100, 370 : 1 : 8:882 5
3| 62-53-3 NOEC 10 04 = oo oo .
2l 309-00-2 ECso 1000[  0.0012 : 8:8(5)01 : gf i s
5 78-79-5 TLm 1000, 43 - 2'5 - 8:8; -~
6| 100-41-4 LCsq 1000 26 . 2:(1)3 : 8:8?11 ;
7| 106-89-8 LCsq 10000 11 : éﬁg : 8:82 5
8  72-20-8 LCs, 1000 0001 [ —ogg ot oa =
o| 1330-20-7 LCs0 1000 82 2:(5)42 8:(1% A
10|  100-00-5|1- _4- NOEC 100 32 - 8; - 8:83 -~
11|  123-86-4 LCsq 1000 100 : 8; : 8:882 5
12|  75-56-9 =2 .
<0.2 X
13| 75-35-4|1,1- LCs0 1000, 79 = 2 : 8:82 5
14|  542-75-4|1,3 NOEC 10| 09 <2 <22 g
, <02 <022 x
15 95-50-1|o- NOEC 100 <1 z 8:8411 i
16|  106-46-7|p- NOEC 10| 10 8:(1)24 8:81 -~
F v R —
18|  74-83-9 : 8:81 i
19|  100-42-5 LCso 1000 9.1 “002 ooz | <




20|  50-29-3|p,p'-DDT LCso 100,  0.002 z 8:88(2)2 : 2'1 :
21 60-57-1 LCs, 100, 00026 | 8:8(1)97 < g:; :
22 79-94-7 ECso 100, 0.8 : 8:83 : 8:82 2
23|  95-53-4|o- NOEC 100, 0.13 : 8:82 : 8:2; .
24 108-88-3 NOEC 100 12 229 8(2)1 OA
25| 584-84-9 LCq, 1000 160 s
26| 309-00-2 NOEC 100  0.005 : ; : 388 .
27| 92-52-4 NOEC 100 0072 | 8:822 > gzgg =
28|  108-95-2 LCso 100, 0.8 8:22 8:5732 :
20|  117-81-7 2- NOEC 100, 0.77 3:2 (2):;2 =
30|  84-74-2 -n- ECso 100, 4 z 8; : 8:82 -
31|  131-11-3 NOEC 100 9 - 8:1 - 8:881 -~
32|  118-74-1 EC,, DNA 1000  0.002 : 8:8(5)2 : iSO .
33|  110-54-3|n- ICs0 100] 15 05 20 z
34| 76-44-8 LCss 1000  0.00003 |~ 8:8(5)0004 - 2:;27 .
35|  82-68-8 NOEC 1000 0.84 : 8:2(2)02 : 8:(5)002 =

X
36|  87-86-5 NOEC 100 <0041 | _ogg ot % ~
371 50-00-0 NOEC 100 <1 > >3 =
38 108-90-7 LCso 1000 05 : 8:21 : 8:22 g
39|  115-96-8 2- NOEC 100 100 (ﬂ 8:8(1)7 -~

EC50 LC50 NOEC TLm IC50
PEC 95

O




